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iwjs ist gSa rFkk dksbZ ist de ;k nksckjk rks ugh vk x;k gSA ;fn vki bl 
iqfLrdk esa dksbZ =qfV ik,¡ rks rRdky blds cnys nwljh iqfLrdk ys ysaA  
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2.  In questions set bilingually in English and Hindi in case of 
discrepancy, the English version will prevail.  

 2  vaxzsth vkSj fgUnh Hkk’kk esa rS;kj fd, x, f}Hkk’kh iz”u a esa dksbZ folaxfr gksus 

dh fLFkrh esa vaxzsth fooj.k ekU; gksxk    

3.   All questions are compulsory and carry equal marks.  3  lHkh Ikz”u vfuok;Z gSa rFkk lcds cjkcj vad gSa  
 

tk,xk  
5.  You will be supplied the answer sheet separately by the 
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Left Hand thumb impression on the answer sheet will not be 
evaluated.  

 5  fujh{kd }kjk vkidks mRrj if=dk vyx ls nh tk,xhA mRrj iqfLrdk esa 

fu;ekoyh ds vuqlkj /;kuiwoZd viuk uke] jksy uEcj] fVdV uEcj vkSj VSLV 

QkeZ la[;k vo”; fy[ksaA iz”uksa ds mRrj okLro esa “kq: djus ls igys mRrj 

iqfLrdk ij fu/kkZfjr LFkku esa vki vius gLRkk{kj ,ao ck,a gkFk ds vaxwBs dk Hkh 

fu”kku Hkh vo”; yxk;saA mi;qZDr vuqns”kksa dk iwjh rjg vuqikyu fd;k tk, 

vU;Fkk vkidh mRrj iqfLrdk dks tkapk ugh tk,xk  
6.   Answersheet must be shown by completely blackening the 

corresponding circles on side-II of the answer sheet against the 
relevant question number by Black/Blue Ball point pen will 
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 6  mRrj if=dk esa lHkh mRrj Side II  esa iz”u la[;k ds lkeus fn, x, lEcfU/kr 

xksykdkj [kkuksa dks dsoy dkys@uhys cky ikabV isu ls iwjh rjg dkyk djds 

fn[kka,aA tks xksykdkj [kkus dkys @uhys cky ikbaV isu ls ugh Hkjs tk,axs] 

muds fy, dksbZ vad ugh fn;k tk,xk 
7.  A machine will read the coded information in the OMR 

answersheet in case the information is incomplete or different 
from the information given in the application form, such 
candidate will be awarded ‘ZERO’ mark.  

 7 vksŒ,eŒvkjŒ mRrj if=dk esa Hkjh x;h dwV lwpuk dks ,d e”khu i<sxhA;fn 

lwpuk viw.kZ gS vFkok vkosnu i= esa nh xbZ lwpuk ls fHkUu gS rks ,sls vH;Fkh 

dks “kwU; fn;k tk,xk   

8.   The answer sheet must be handed over to the invigilator before 
you leave the examination hall.  

 8  ijh{kk gkWy NksMus ls igys ijh{kkFkhZ dks mRrj if=dk fujh{kd ds gokys nsuh 

pkfg,  
 9  Åij ds vuqns”kksa esa ls fdlh ,d dk Hkh ikyu u djus ij mEehnokj ij 

foosdkuqlkj dk;Zokgh dh tk ldrh gS ;k n.M fn;k tk ldrk gS  

10. NO Rough work is to be done on the answersheet. Blank spaces 
provided at various placed in the question booklet may be used 
for rough work. 

 10 dksbZ jQ dk;Z mRrj if=dk ij ugh djuk gSA iz”u iqfLrdk esa fofHkUu LFkkuksa 

ij miYkC/k [kkyh txgksa ij jQ dk;Z fd;k tk ldrk gS 

 

bl iqfLrdk dh lhy rc rd u [kksysa tc rd dgk u tk,  
 

9.  Failure or comply with any of the above instructions will 
render a candidate liable to such action/penalty as may be 
deemed fit. 

      Part-A General Intelligence and Reasoning  –(25 Questions)
       Part B General Awareness                         –(25 Questions) 
       Part-C Quantitative Aptitude                      –(25 Questions)
        Part-D English comprehension                   –(25 Questions)
   

4.  The paper carries negative marking 0.5 marks will be deducted 
for each wrong answer.  

4  iz”ui= esa udkjkRed vadu gksxk@gj xyr mRrj ds fy, 0.5  vad dkVk 

vf/kdre vad % 200 

1 bl iqfLrdk esa dqy 100 iz”u gSa ftuesa fuEufyf[kr pkj Hkkx gS1. This booklet contains 100 questions in all comprising the 
following four parts.  
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SSC TEST  SERIES -2 

Part-I. 
GENERAL INTELLIGENCE AND 

REASONING 

¼lkekU; cqf)eRrk ,ao rdZ”kfDr½ 

Directions (1–4) : In each of the following questions, select the 

related letter/word/figure/ number from the given alternatives. 

fuEu iz'uksa esa ls izR;sd iz'u esa fn, fodYiksa esa ls lEcfU/kr 

v{kj@'kCn@vkÑfr@ la[;k dks pqfu,A 
1.  Indolence : Work :: Taciturn : ? 

 vkylh : dk;Z :: vYiHkk"kh : ? 
 (A) Cheat / /kkas[kk (B) Act /ÑR; 

 (C) Talkative/ okpky (D) Observe /fujh{k.k 

2.  Jade : Green :: Garnet : ? 

 tsM : gjk :: xkusZV : ? 
 (A) Red / yky (B) Blue /uhyk 

 (C) Orange / ukjaxh (D) Yellow/ihyk 

3.  61 : 121 :: ? : 337 

 (A) 211   (B) 222  

 (C) 220 (D) 240 
4.  KeaC : CaeK :: XgmF : ? 

 (A) GmcF  (B) FmgX  

 (C) EgmX  (D) EmgF 
Directions (5-7): Find the odd word/ letter/number from the given 
alternatives. 

fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@la[;k dks pqfu, A 

5.  (A) Rye / jkbZ (B) Sourdough / tkeu 

 (C)  Pumpernickel / jksVh (D) Loaf / iko jksVh 
6.  (A) Couch /lksQk  (B) Rug /dEcy 

 (C)  Table / est  (D) Chair / dqlhZ 
7.  (A) 2573-647  (B) 8426-965 
 (C) 2754-813  (D) 3862-919 
Directions (8-9): From the given options choose the missing 

number/figure. 

fn, x, fodYiksa esa ls yqIr vkÑfr@la[;k Kkr dhft,A 

8.  4, 7, 25, 10, ...., 20, 16, 19, 15 
 (A) 13  (B) 15  

 (C) 20  (D) 28 

9.  8, 11, 21, 15, 18, 21, 22, ...., ..... 
 (A) 25 18  (B) 25 21  

 (C) 25 29  (D) 24 21 
10.  Starting from the point X, Jayant walked 15 m towards 

west. He turned left and walked 20 m. He then turned 

left and walked 15 m. After this he turned to his right 
and walked 12 m. How far and in which directions is 

Jayant now from the point X ? 
 fcUnq X ls pyrs gq, t;Ur if'pe dh rjQ 15 eh- pyrk gSA 

og ck,a eqM+dj 20 eh- pyrk gSA og fQj ls ck,a eqM+rk gS vkSj 

15 eh- pyrk gSA mlds i'pkr og vius nkfgus eqM+dj 12 
eh- pyrk gSA t;Ur fcUnq X ls fdruh nwjh ij rFkk fdl 

fn'kk esa gS ? 
 (A) 32 m, South / eh-] nf{k.k 

 (B) 47 m, East / eh-] iwoZ 
 (C) 42 m, North / eh-] mÙkj 
       (D) 27 m, South / eh-] nf{k.k 

11. Statement/dFku  

 The change in old order yields place to new. 
 iqjkuh O;oLFkk ds cnyus ij u;h O;oLFkk mldk LFkku xzg.k 

djrh gSA 

Assumptions / iwoZ/kj.kk,a : 
 I.  Change is the law of nature. 

 ifjorZu izÑfr dk fu;e gSA 

 II.  Discard old ideas because they are old. 
     iqjkus fopkjksa dk R;kxsa D;ksafd os iwjkus gSaA 

 (A) Only conclusion I follows 

 dsoy fu"d"kZ I vuqlj.k djrk gSA 

 (B) Only conclusion II follows 

 dsoy fu"d"kZ II vuqlj.k djrk gSA 

 (C) Either I or II follows 

 ;k rks fu"d"kZ I ;k II vuqlj.k djrk gSA 

 (D) Neither I nor II follows 

  u fu"d"kZ I u II vuqlj.k djrk gSA555108888, 095 
12.  A, P, R, X, S and Z are sitting in a row. S and Z are in 

the centre. A and P are at the extreme ends. R is 
sitting to the left of A. Who is sitting to the right of P ? 

 A, P, R, X, S rFkk Z ,d iafDr esa [kM+s gSaA S rFkk Z eè; esa gSaA 
A rFkk P vafre fljksa ij gSaA R, A ds ck,a cSBk gSA P ds nkfgusa 

dkSu cSBk gS ? 
 (A) A   (B) X  
 (C) S   (D) Z 

13. Find the minimum number of straight lines required to 
make the given figure ? 

 fn, gq, vkÑfr dks cukus ds fy, dqy fdruh ljy js[kk,a 

pfg,? 

 

 (A) 16  (B) 17  

 (C) 18  (D) 19 
14. Choose the correct mirror image of the given figure (X) 

from amongst the four alternatives. 

 pkj fodYiksa esa ls vkÑfr (X) dk lgh niZ.k izfrfcEc p;u 

djsaA 

 

 (A) 1   (B) 4 

 (C) 2   (D) 3 
Direction (15): Two statements are given which are followed by two 

conclusions. You have to consider the two statements to be true even if 

they seem to be at variance from commonly known facts. You have to 

decide which of the given conclusions, if any, follow from the given 

statements. 
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funsZ'k % iz'u la[;k 15 esa nks dFku vkSj mlds vkxs nks fu"d"kZ I 
vkSj II fn, x, gSaA vkidks bu dFkuksa dks lR; ekudj fopkj 

djuk gS pkgs os lkekU;r% Kkr rF;ksa ls fHkUu izrhr gksrs gksaA 

vkidks fu.kZ; djuk gS fd fn, x, fu"d"kksZ esa ls dkSu lk fu"d"kZ 

;fn dksbZ gS] fuf'pr :i ls dFku ds vk/kj ij fudkyk tk ldrk 

gSA 

15. Statements / dFku : 
 Some ants are parrots. 

 dqN fpfV;ka rksrsa gSaA 

 All the parrots are apples. 

 lHkh rksrsa lsc gSaA 

 Conclusions / fu"d"kZ : 
1. All the apples are parrots. 

  lHkh lsc rksrsa gSaA 

2. Some ants are apples. 
  dqN fpfV;ka lsc gSaA 

 (A) Only conclusion (1) follows 

  dsoy fu"d"kZ 1 vuqlj.k djrk gSA 

 (B) Only conclusion (2) follows 

  dsoy fu"d"kZ 2 vuqlj.k djrk gSA 

 (C) Both (1) or (2) follows 

  fu"d"kZ 1 rFkk 2 nksuksa vuqlj.k djrs gSA 

 (D) Neither (1) nor (2) follows 
  u rks fu"d"kZ 1 u gh 2 vuqlj.k djrk gSA 

16. At what time between 5 : 30 and 6 will the hands of a 
clock are at right angles ? 

 5 : 30 rFkk 6 : 00 ds chp fdl le; ?kM+h dh lwb±;k¡ 90° dk 

dks.k cuk,xh ? 

 (a) 
5

43
11

min past 5 (b) 
7

43
11

 min. past 5  

 (c) 45 min, past 5  (d) None of these  

17. Find out the alternative figure which contains question 

figure as its part. 
 ml oSdfYid vkÑfr dk p;u djs ftlesa iz'u vkÑfr 

lfEefyr gSA 

 Question Figure  

 

 Answer Figures 

 
18. Which digit will appear on the face opposite to the face 

with number 4 in the given dice ? 

 fn, x, ikls esa la[;k 4 ds foijhr dkSu lh la[;k vk,xh ? 

 
 (A) 3  (B) 5  

 (C) 6  (D) 2/3 

19. Find out which of the answer figures (A), (B), (C) and 
(D) can be formed from the pieces given in question 

figure. 
 vkÑfr (A), (B), (C) rFkk (D) esa ls ml mÙkj vkÑfr dk p;u 

djsa tks fd iz'u vkÑfr ds [kaMksa dks feykdj cuk;k tk ldsA 

 Question figure: 

 
 Answer Figure  

 
20. Choose the correct alternative from the given ones that 

will complete the series. 
 fn, x, fodYiksa esa ls lgh fodYi dk p;u djsa tks fd 

Jà[kyk dks iwjk djsxkA 

 ab _ aa _ bbb _ aaa _ bbba 

 (A) abba  (B) baab  
 (C) aaab  (D) abab 

21. A word is represented by only one set of numbers as 
given in any one of the alternatives. The sets of 

numbers given in the alternatives are represented by 
two classes of letters as in two matrices given below. 

The columns and rows of Matrix-I are numbered from 

0 to 4 and that of Matrix-II are numbered from 5 to 9. 
A letter from these matrices can be represented first by 

its row and next by its column. E.g., „D‟ can be 
represented by 03, 10, 44 etc., and „J‟ can be 

represented by 56, 67, 89 etc. Similarly, you have to 

identify the set for the word „BIRD‟. 
 ,d 'kCn dsoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk fd 

fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn, x, 

l[a;k&lewg v{kjksa ds nks oxks± }kjk n”kkZ, x, gS]a tlS fd uhps 

fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr dh 

la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 9A bu 

vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkjS ckn esas LraHk 

l[a;k }kjk n”kkZ;k tk ldrk gS mnkgj.k ds fy, „D‟ dks 

03,10, 44 vkfn }kjk n”kkZ;k tk ldrk gSS rFkk „J‟ dks 56, 

67,89 vkfn }kjk n”kkZ;s tk ldrk gS blh rjg l]s vkidks 

'kCn „BIRD‟ ds fy, la[;k lewg dks igpkuuk gSA 

                Matrix-I   Matrix-II 

 
 (A) 11, 65, 68, 13   (B) 30, 99, 88, 22 

 (C) 41, 57, 78, 32   (D) 23, 86, 56, 43 
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Directions (22-25): From the given options choose the missing 

number. 

fn, x, fodYiksa esa ls yqIr la[;k Kkr dhft,A 

22. 

5 6 3 8 

6 5 4 7 

7 4 5 5 

21 12 6 ? 

 (A) 24 (B) 18 (C) 28 (D) 19 
23.  

5 4 141 

6 2 220 

7 3 ? 

 (a)352  (b) 284  

 (c) 296  (d) 328 
24.  

 
 (a) 8281  (B) 6561  

 (C) 3721  (D) None of these 
25. 18  24   32 
 12  14   16 

 3  ?   4 
 72  112    128 

 (A) 2  (B) 3  
 (C) 4  (D) 5 

Part-II. 
QUANTITATIVE APTITUDE 

¼Xkf.krh; vfHk;ksX;rk½ 

26.  The sum of three conseuctive even numbers is 14 less 
than one fourth of 176. What is the middle number ? 

 3 Øekxr le la[;kvksa dk ;ksx 176 ds ,d pkSFkkbZ ls 14 de 

gSA e/; D;k gSaA 

 (a) 10  (b) 8  

 (c) 6  (d) 4 

27. The different numbers when divided by the same 

divisor,left remainders 13 and 23 respectively and 
when their sum was divided by the same divisor, then 

the remainder was 5. What is the divisor. 

 nks fHkUu la[;kvksa dk ,d gh Hkktd ls Hkkx nsus ij Øe”k% 13 

,oa 23 “ks’kQy cprk gSa rFkk tc muds ;ksx dks mlh Hkktd 

ls Hkkx fd;k tkrk gS rks “ks’kQy 5 cprk gSA Hkktd D;k gSaA 

 (a) 32   (b) 36  

 (c) 30   (d) 31  

28.  Find the value of  

 

72 72 72...... 20 20 20.......
 

       
 

 

 dk eku Kkr djsaA 

 (a) 8   (b) 4  

 (c) 2   (d) Can‟t determined  

29. A hound pursues a hare takes 7 leaps for every 8 laeps 

of here. 5 leaps of the hound are equal to 6 leaps of 
the hare. Compare the rates of the hound and the 

here. 

 (a) 20 : 19  (b) 18 : 17  

 (c) 21 : 20  (d) 20 : 21  

 ,d f”kdkjh dqŸkk ,d [kjxks”k dk ihNk djrk gS rFkk og 

[kjxks”k +dh izR;sd 8 Nykax yxkrk gSA dqŸks dh 5 Nykax] 

[kjkxks”k ds 6 Nykax ds cjkcj gSaA dqŸks rFkk [kjxks”k ds xfr 

dh rqyuk dhft,A 

30. A bag contain an equal number of one rupee, 50-paise 
and 25 paise coins respectively. If the total value is Rs. 

43.75, then how many coins of each type are there ? 

 ,d cSx esa cjkcj esa :- 1]50 iSls rFkk 25 iSls ds flDds gSaA 

;fn dqy ewY; :- 43-75 gSa] rks izR;sd izdkj ds fdrus flDds 

gSa \ 

 (a) 40  (b) 25  

 (c) 35  (d) 30  

31. Two cnadles of the same height are lighted at the same 
time. The first is consumed in 7 hours and the second 

in 4 hrs. Assuming that each candle burns at a 
constant rate. In how many hours afterbeing lighted, 

the ratio between the first and second candles 
becomes 3 : 1 ? 

 nks leku ÅWapkbZ dh eksecfŸk;ksa dks ,dlkFk tyk;k tkrk gSA 

igyh 7 ?kaVs esa [kRe gks tkrh gSa rFkk nwljh 3 ?kaVs esa [kRe gks 

tkrh gSaA ekuk fd nksuksa eksecfŸk;kWa fLFkj nj ls tyrh gSA 

tykus ds fdrus ?kaVs ckn] igyh vkSj nwljh eksecŸkh dh ÅWapkbZ 

dk vuqikr 3 % 1 gks tk,xkA 

 (a) 2 hours  (b) 2 hours 30 min  

 (c) 3 hours 20 min  (d) 3 hours  

32. A shopkeeper gives 1 item free with 15 item and a 

discount of 4% is also offered. Shopkeeper still gains 
35% profit. Find how much % did the shopkeeper 

marked on his goods above cost price ? 

 ,d nqdkunkj izR;sd 15 oLrqvksa ds lkFk 1 oLrq eq¶r nsrk gS 

rFkk 4%  dk NwV Hkh nsrk gSaA nqdkunkj dks vHkh Hkh 35% 

dk ykHk gksrk gSaA nqdkunkj vius oLrq dks dz; ewY; ls fdrus 

izfr”kr vf/kd ewY; vafdr djrk gSaA 

 (a) 150%  (b) 75%  

 (c) 125%  (d) 50% 

33. In any given month, a man earns a% commission on 

first sale of Rs. 1000 and on further sale he earns b% 
commission. In two following months his sales are Rs. 

3000 and Rs. 4000 the he earn commission Rs. 900 
and Rs. 1300 respectively. Find he value of a ? 

 ,d O;fDr fdlh eghus esa igyh :- 1000 dh fcdzh ij a%  

deh”ku ikrk gSa rFkk mlds ckn dh fcdzh ij b%  deh”ku 

ikrk gSaA ;fn vxys nks eghus esa mldh dze”k% :- 3000 rFkk 

:- 4000 dh fcdzh gksrk gSa] rks og dze”k% :- 9000 rFkk :- 

1300 deh”ku ikrk gSaA a  dk eku Kkr dhft,A 

 (a) 12%  (b) 15%  
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 (c) 10%  (d) 13% 

34. The simple interest on a certain sum of money for 2 

years at 20% per annum is Rs. 200. Find the 
compound interest at the same rate and for the same 

time ? 

 fdlh fuf”pr /ku ij 20%  izfr o’kZ dh nj ls 2 o’kZ dk 

lk/kkj.k C;kt :- 200 gSaA ml nj ls rFkk mrus gh le; ds 

fy, ml /ku dk pdzof̀) C;kt Kkr djsaA 

 (a) Rs. 320  (b) Rs. 220  

 (c) Rs. 210  (d) Rs. 225 

35. A, B and C together can finish a piece of work in 12 

days, A and C together work twice as much as B. A and 
B together work thrice as much as C. In what could 

each do it separately ? 

 
A,B  rFkk C  ,d lkFk fdlh dk;Z dks 12 fnuksa esa dj ldrs 

gSA A  vkSj C  ,d lkFk] B dk nqxuk dk;Z djrs gSaA A  vkSj 

B ,d lkFk C  dk rhu xquk dk;Z djrs gSaA fdrus le; esa os 

bls vyx&vyx djsaxsaA 

 (a) 
4

28 ,42,48
5

   (b) 
4

28 ,36,48
5

  

 (c) 
4

28,36 ,48
5

   (e) None of these  

36. One inlet pipe A takes 4 minutes more to fill a cistern 

than two inlet pipes A and B opened together to fill it. 
Second inlet pipe B takes 9 minutes more to fill cistern 

than two pipes A and B opened together to fill it. When 

will the cistern be full if both the pipes are opened 
simultaneously ? 

 ,d uy A  Vadh dks Hkjus esa nks uyksa A  rFkk B  }kjk 

feydj Vadh dks Hkjus ds fy, le; ;s 4 feuV vf/kd ysrk gS 

rFkk uy B Vadh dks Hkjus esa A  rFkk B  }kjk feydj Vadh 

dks Hkjus ds fy, le; ls 9 feuV vf/kd le; ysrk gsaA vxj 

nksuksa uyksa dks ,d lkFk [kksy fn;k tk,] rks Vadh fdrus le; 

esa HkjsxhA 

 (a) 4 minutes   (b) 6 minutes  

 (c) 5 minutes  (d) 8 minutes 

37. If 
1

tan(A B)
2

  and 
1

tan(A B) ,
3

  then find the 

value of tan 2A. 

 ;fn 
1

tan(A B)
2

   vkSj 
1

tan(A B) ,
3

   gS] rks tan 2A 

dk eku Kkr dhft,A 

 (a) cos45   (b) sin60   

 (c) sin90    (d) cos90  

38. Find the value of (1 + cot A – cosec A) (1 + tan A +sec 

A). 

 (1 + cot A – cosec A) (1 + tan A +sec A).dk eku Kkr 

dhft,A 

 (a) 0   (b) 1  

 (c) 2   (d) 3  

39.  sin 2  5º+sin 2 10º+sin 2 15º+ .. …+ sin 2 85º+sin 2 90º 

 is equal to 

 sin 2  5º+sin 2 10º+sin 2 15º+ .. …+ sin 2 85º+sin 2 90º 

 cjkcj gSaA 

(a) 
1

7
2

   (b) 
1

8
2

  

(c) 9   (d) 
1

9
2

 

40.  If 
5 1

x
5 1





, then find the value of 25x 5x 1  . 

 ;fn 
5 1

x
5 1





 gSa] rks 

25x 5x 1   dk eku Kkr djsaA 

 (a) 0   (b) 3  

 (c) 4   (d) 6 

41. If 3
x ,

2
 then find the value of 1 x 1 x

1 1 x 1 1 x

 


   

 

 ;fn
3

x ,
2

  gSa] rks 
1 x 1 x

1 1 x 1 1 x

 


   

 dk eku dhft,A 

 (a) 1   (b) 2 / 3

 

 

 (c) 2 3    (d) 2 

42. 
61 62 63 644 4 4 4    is divisible by/ foHkkftr gSaA 

 (a) 17  (b) 3  

 (c) 11  (d) 13 

43. ABCD is a square. M, N and P are the the mid points of 

AD, AB and BC respectively. T is the mid point of MN. 

Find ratio of ATM: TMP.   

 ABCD  ,d oxZ gSaA M, N vkSj P dze”k% AD, AB rFkk BC ds 

e/;fcanq gSaaA T, MN dk e/;fcanq gSaA ATM: TMP   dk 

vuqikr Kkr dhft,A 

 (a) 2 : 3  (b) 3 : 2  

 (c) 1 : 2  (d) 2 : 1 

44.  Two chords AB and AC are drawn in a circle AB = AC = 
6 cm, then find BC if radius = 5 cm. 

 AB rFkk AC nks pkiksa dks oŸ̀k esa [khpk tkrk gSA AB = AC = 

6 lsehA ;fn f=T;k = 5 lseh gSa] rks BC Kkr dhft,A 

 (a) 9.6   (b) 12.5  

 (c) 18.6   (d) 19.2 

45. ABC is an isosceles triangle in which AB = AC. A circle 
passing through vertex B and touches middle point of 

AC and intersect AB at P. Find PB : PA. 

 ABC ,d lef)ckgq f=Hkqt gSa ftlesa AB = AC gSaA ,d òŸk tks 

“kh’kZ B ls xqtjrk gSa rFkk AC dks mlds e/;fcanq ij Li”kZ 

djrk gSa rFkk AB dks fcanq P ij dkVrk gSA PB : PA Kkr 

dhft,A 

 (a) 2 : 3   (b) 3 : 1  

 (c) 1 : 3   (d) 3 : 1  
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46. The ratio of three sides of a triangle is 4 : 5 : 6. The 
circle of radius is 4 cm. Find the length of smallest 

altitude. 

 fdlh f=Hkqt dh rhu Hkqtkvksa dk vuqikr 4 % 5 % 6 gSaA vra o `̀Ÿk 

dh f=T;k 4 lseh gSaA lcls NksVs “kh’kZyac dh yEckbZ Kkr 

dhft,A 

 (a) 7.5 cm  (b) 10 cm  

 (c) 8.5 cm  (d) 11 cm  

47.  If a conical cavity is drilled in a circular cylinder of 
height 15 cm and base radius 8 cm. The height and 

base radius of the cone are respectively equal to the 
height and base radius of the cylinder. Find the total 

surface area of remaining solid. 

 ,d oŸ̀kkdkj csyu dh ÅWapkbZ 15 lseh rFkk vk/kkj dh f=T;k 8 

lseh gS esa ,d “kaDokdkj xqgk cuk;k tkrk gSaA “kadq dh ÅWapkbZ 

rFkk vk/kkj f=T;k Øe”k% csyu dh ÅWapkbZ rFkk vk/kkj f=T;k 

ds cjkcj gSaA “ks’k Bksl dk dqy i’̀Bh; {ks=Qy Kkr dhft,A 

 (a) 460 2cm    (b) 440 2cm   

 (c) 470 2cm    (d) 480 2cm  
Directions (48-50) : The following questions are based on the pie-

chart given below. Study the pie-chart and answer the questions. 

fuEufyf[kr iz”u uhps fn, x, ikbZ&pkVZ ij vk/kkfjr gSA ikbZ&pkVZ 

dk v/;;u djds iz”uksa ds mŸkj nsaA  

The percentage expenses on various items during  book 

production and sale. 

iqLrd ds mRiknu vkSj fcdzh ds nkSjku fofHkUu enksa ij [kpZ ds 

izfr”kr 

Printing Cost

35%
Binding and 

Cutting 
Charges

Pa
pe

r C
os

t

 
Expenses

Royalty

Ad
ve

rt
is
em

en
t

Ch
ar

ge
s

Miscellaneous 

18%

18%
15%

4%

10
%

 

48. If the „Printing Cost‟ is Rs. 17500, then the royalty paid 

is  

 ;fn *eqnz.k ykxr* :- 17500 gSa] rks jkW;YVh dk Hkqxrku gSaA 

 (a) Rs. 8750  (b) Rs. 7500  

 (c) Rs. 3150  (d) Rs. 6300 

49.  The central angle for the sector on “Paper Cost is  

 *dkxt ykxr* ds fy, oŸ̀k [ka Mesa dsUnzh; dks.k gSaA 

 (a) 
1

22
2
    (b)16º  

 (c)54.8º   (d)36º 

50. The “Paper Cost” is approximately what percent of 
“Printing Cost “? 

 *dkxt dh ykxr*] *eqnz.k ykxr* dk yxHkx fdruk izfr”kr 

gSa\ 

 (a) 20.3%  (b) 28.6%  

 (c) 30%  (d) 32.5% 

Part-III. 

GENERAL AWARENESS  

¼LkkekU; tkudkjh½ 

51. Who among the following is known as the father of 

comparative public administration? 

 fuEufyf[kr esa ls dkSu rqyukRed yksd iz'kklu ds tud ds 

:i esa tkus tkrs gSa\ 

 (A) L.D. White/,y-Mh- OgkWbV 

 (B) Frnak J. Goodnow/Qzsad ts- xqMukÅ 

 (C) Woodraw Wilson/oqMjks foYlu 

 (D) Fred Riggs/QzsM fjXl 

52. Which of the following is the function of "Iodised Salt" 
in the human body? 

 vk;ksMhu ued ekuo 'kjhj esa fuEufyf[kr esa ls dkSu&lk dk;Z 

djrk gS\ 

(A) It helps in checking the cholesterol level in blood/ 
;g 'kjhj esa dksysLVªksy ds Lrj dks fu;af=kr djus esa enn 

djrk gSA 

(B) It controls the functions of the thyroid glands/;g 

voVq ds dk;Z dks fu;af=r djrk gS 

(C) It makes the body immune to viral diseases/;g 

fo"kk.kq jksxksa ls “kjhj dh j{kk djrk gS  

(D) It slows down the ageing process/;g vk;q c<+us dh 

izfØ;k dks /hek djrk gSA 

53. Who headed the National Ministerial Committee under 

the Architecture for cash transfers? 

 okLrdqyk ds rgr udnh LFkkukraj.k ds fy, jk"Vhª; efa 

=kLrjh; lfefr dh vè;{krk fdlus dh\ 

 (A) Prime Minister of India/Hkkjr ds iz/kkuea=h 

 (B) Finance Minister/foÙk ea=kh 

 (C) Food and Consumer Affairs Minister/[kk| ,oa 

miHkksDrk ekeyksa ds ea=kh 

 (D) Deputy Chairman, Planning Commission/mikè;{k] 

;kstuk vk;ksx 

54. Which was the first enzyme isolated in pure crystalline 
form? 

 'kq) ikjn'khZ :i esa fo;qDr fd;k x;k lcls igyk ,atkbe 

dkSu&lk Fkk\ 

 (A) Amylase/,feysl  (B) Catalase/dSVkysl 

 (C) Lipase/ykbisl  (D) Clrease/Dyfj,l 

55. Which of the following is not required for seed 

germination? 

 cht ds vadqj.k ds  fy, fuEufyf[kr eas ls fdldh vko';drk 

ugh gS\ 

 (a)Water/ty (B) Air 

 (C) Sunlight (D) Suitable temperature 

56. In Delhi, which among the following became the first 
district court to use complete E-Stamping facility? 
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 fnYyh e]as fuEufyf[kr eas ls dkSu&lh ftyk vnkyr bZ eqnzkadu 

lqfo/kk dk lEiw.kZ mi;ksx djus okyh igyh ftyk vnkyr cu 

xbZ gS\ 

 (A) Dawarka District Court 

  }kjdk ftyk vnkyr 

 (B)  Patiala House District Court 

  ifV;kyk gkml ftyk vnkyr 

 (C)  Rohini District Court 

  jksfg.kh ftyk vnkyr 

 (D) Saket District Court 

  lkdsr ftyk vnkyr 

57. World's most powerful supercomputer at presents is 
_____. 

 orZeku esa nqfu;k dk lcls 'kfDr'kkyh lqij dEI;wVj gS& 

 (A) Apple/,Iiy  (B) Titan/VkbVu 

 (C) Watson/okVlu  (D) Sequoia/fldksb;k 

58. Which of the following is considered to be the best 
cholesterol? 

 fuEufyf[kr esa ls dkSu&lk mÙke dksysLVªksy ekuk tkrk gS\ 

(A) VLDL (B) LDL 

 (C) HDL (D) Triglycerides 

59. Which company acquired 26 percent stake in ONGC 

krishna Godavari deep-sea block? 

 dkSu&lh daiuh us rsy ,oa izkd`frd xSl ¼vks,uthlh½ fuxe esa 

d`".kk xksnkojh csflu ds xgjs leqnz CykWd esa 26 Qhlnh 

fgLlsnkjh izkIr dh gS\ 

 (A) Gazprom/xStizkse 

 (B) Inpex corporation/buiSDl fuxe 

 (C) Petronas/isVªksukl 

 (D) Conocophillips/dksuksdksfQfyIl 

60. Who is responsible to collect the service tax? 

 lsok dj ds laxzg.k dk mÙkjnkf;Ro fdl ij gS\ 

 (A) Income Tax Department/vk;dj foHkkx 

 (B) Central Excise Department/dsUnzh; mRikn 'kqYd foHkkx 

 (C) Commercial Tax Department/okf.kT; dj foHkkx 

 (D) Excise Department/vkcdkjh foHkkx 

61. Indian Institute of Astrophysics (IIA) has decided to 

establish world's largest solar telescope at- 

 Hkkjrh; [kxksy&HkkSfrdh laLFkku us nqfu;k dk lcls cM+h lkSj 

nwjchu dks dgk¡ LFkkfir djus dk fu.kZ; fy;k gS\ 

 (A) Ladakh/yík[k (B) Jodhpur/tks/kiqj 

 (C) Jaisalmer/tSlyesj (D) Bhopal/Hkksiky 

62. Why did the government ban the import of "Terminator 
Seeds"? 

fdl dkj.k ls ljdkj us lekid chtksa ds vk;kr ij izfrca/k 

yxk;k\ 

(A) To contain a virus which can destroy local crops/ml 

fo"kk.kq dks jksdus ds fy, tks LFkkuh; Qlyksa dks u"V 

djrk gSA 

(B) These seeds are injurious to human and animal 
health/;s cht ekuo rFkk i'kq ds LokLF; ds fy, 

gkfudkjd gSA 

(C) These seeds contain geneticallyengineers 

properties to prevent multiplication/bu chtksa esa 

vkuqoaf'kd :i ls xq.k/keZ gksrs gS ftuls vkxs vkSj cht 

iSnk ugh gksrk gSA 

(D) These seeds multiply at very slow rates/bu chtksa dk 

cgqxq.ku cgqr /khek gksrk gSA 

63. The first novel written by Sunil Gangopadhyay is: 

 lquhy xaxksikè;k; }kjk fy[kk x;k igyk miU;kl gS& 

 (A) Athma Prakash/vkRe izdk'k 

 (B) Pratham Alo/izFke vkyks 

 (C) Purba Pachim/iwjc if'pe 

 (D) Shei Shomya/'kbZ 'kkSE;s 

64. Biggest ever black hole has been found in which 
galaxy? 

vc rd dk lcls cM+k CySd gksy fdl vkdk'kxaxk esa ik;k 

x;k gS\ 

 (A) Andromeda Galaxy/,aMªksesMk vkdk'kxaxk 

 (B) Galaxy NGC 1277/xSysDlh ,uthlh 1277 

 (C) Galaxy NGC 4889/xSysDlh ,uthlh 4889 

 (D) Galaxy Henize 2-10/xSysDlh gSfut 2-10 

65. What is the range of mercury thermometer. 

 ikjn FkekZehVj dh jsat gksrh gS& 

 (A) 0°C to 350°C (B) 10°C to 350°C 

(C) 20°C to 350°C (D) 30°C to 350°C 

66. Fourth Arab Economic Summit 2015 was held in _____. 

 pkSFkk vjc vk£Fkd lEesyu 2015 _____ esa vk;ksftr fd;k 

x;k FkkA 

 (A) Dubai/nqcbZ (B) Riyadh/fj;kn 

 (C) Tunisia/V~uhf'k;k (D) Kuwait city/dqoSr flVh 

67.  Which of the following chemical is used for 
preservation of fruit juices? 

 Qyksa ds jl dks lqjf{kr j[kus ds fy, fuEu eas ls fdl jlk;u 

dk mi;ksx fd;k tkrk gS\ 

 (A) Acetic Acid/,lhfVd vEy 

 (B) Formic Acid/QkWfeZd vEy 

 (C) Sulphuric Acid/lYÝ;wfjd vEy 

 (D) Sodium Benzoate/lksfM;e csUtks,V 

68. The presence of what distinguishes a plant cell from an 

animal cell? 

 fdldh mifLFkfr ds dkj.k ikni&dksf”kdk vkSj tarq dksf”kdk 

esa varj ik;k tkrk gS\ 

 (A) Plastids/IykfLVM 

 (B) Cell-Wall/dksf'kdk&fHkfÙk 

 (C) Cell membrane/dksf'kdk&f>Yyh 

 (D) Nucleus/dsUnzd ¼ukfHkd½ 

69. Who among the following was the 23rd Jain Tirthankar? 
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fuEufyf[kr esa ls dkSu 23osa tSu rhFkZadj Fks\ 

 (A) Rudrasena - I/:nzlsu&I 

 (B) Parshvanath/ik'oZukFk 

 (C) Prithvisena - I/i`Fohlsu&I 

 (D) Narendrasena - I/ujsUnzlsu&I 

70. Which of the following is also known as wood alcohol? 

 fuEu esa ls fdls ydM+h 'kjkc ds uke ls tkuk tkrk gS\ 

 (A) Methanol/eSFkukWy  (B) Ethanol/bFksukWy 

 (C) Propanol/izksisukWy  (D) Butanol/C;wVsukWy 

71. Which of the following chemical is used for dry 
cleaning? 

 fuEufyf[kr eas ls dkSu&lk jlk;u 'k"qd /kqykbZ ds dke vkrk 

gS 

 (A) Benzene/csUthu 

 (B) Nitrobenzene/ukbVªkscsUthu 

 (C) Chlorobenzene/DyksjkscsUthu 

 (D) Hydroxybenzene/gkbMªksfDlcsUthu 

72. Which of the following gland holds the body's 
thermostat? 

 fuEufyf[kr eas og XkzfUFk dkSu&lh gS tks 'kjhj ds rki dks fLFkj 

j[krh gS\ 

 (A) Pineal gland/fifu;y xzafFk 

 (B) Pituitary gland/ih;w"k xzafFk 

 (C) Thyroid gland/voVq xzafFk 

 (D) Hypothalamus/gkbiksFkSysel 

73. How many protons and neutrons are there in an atom 

of tritium? 

 VªkbfV;e (T) eas izksVkWu (p) vkSj U;wVªku (n) dh la[;k Øe'k% 

D;k gS\ 

 (A) 1p and 1n/1p vkSj 1n (B) 1p and 2n/ 1p vkSj 2n 

 (C) 1p and 3n/1p vkSj 3n (D) 2p and 1n/2p vkSj 1n 

74. Which is the following tests helps in diagnosis of 

cancer? 

 fuEufyf[kr esa ls dkSu&lk VsLV dSalj ds funku esa lgk;d g\S 

 (A) Urine test/ew= tkap (B) Blood test/jDr tkap 

 (C) Biopsy/ck;kIslh (d) Skin test/Ropk tkap 

75. Which are the Primary colours? 

 izkFkfed jax dkSu ls gS\ 

 (A)  Yellow, Green, Blue/ 

  ihyk] gjk] uhyk 

 (B) Red, Magenta, Blue/ 

  yky] eStsaVk] uhyk 

 (C) Red, Green, White/ 

  yky] gjk] lQsn 

 (D) Red, Green, Blue/ 

  yky] gjk] uhyk 

 

 

 

 

 

Part-IV. 

ENGLISH LANGUAGE 

¼vaxzsth Hkk’kk½  

Direction:In Question nos. 76-78, some part of the sentences have 

errors and some are correct. Find out which part of a sentence has 

an error and blacken the oval [ ]  corresponding to the 

appropriate letter (A), (B), (C). If a sentence is free from error, 

blacken the oval corresponding to (D) in the Answer Sheet. 

76.  The charges in this hospital are less than the hospital 

near my house. 

 (A) No error   

 (B) The charges in this hospital 

 (C) the hospital near my house 

 (D) are less than 

77. You will get all the information if you read this booklet 
carefully 

 (A) You will get 

 (B) No error 

 (C) all the information  

 (D) if you read this booklet carefully 

78.  There is still little tea left in the cup. 

 (A) No error (B) little tea 

 (C) There is still (D) left in the cup 

Directions:In Question nos. 79-80, sentences given with blanks to 

be filled in with an appropriate word(s). Four alternatives are 

suggested for each question. Choose the correct alternative out of 

the four and indicate it by blackening the appropriate oval [ ]  in 

the Answer Sheet. 

79.  He is too important ........ any delay. 

 (A) to tolerate  (B) to tolerating  

 (C) For tolerating  (D) with tolerating 

80.  For many centuries in Indian History there was no city 

so famous ....... the city of Ujjain. 

 (A) As  (B) such as  

 (C) Like  (D) so like 

Direction: In Question nos. 81 to 82, a sentence/ a part of the 

sentence is underlined. Below are given alternatives to the 

underlined part at (A), (B), (C) which may improve the sentence. 

Choose the correct alternative. In case no improvement is needed 

your answer is (D). Mark your answer in the Answer Sheet. 

81. The research study is an eye-opener and attempts to 
acquaint us with the problems of poor nations. 

 (A) attempted to acquaint  

 (B) attempts at acquainting 

 (C) attempt to acquaint  

 (D) No correction required 

82. For some days the new professor lectured above the 
heads of his pupils.  

 (A) through the heads of (B) over the heads of 

 (C) on the heads of (D) No correction required 
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83. I have got some tea, but I do not have a sugar. 

 (A) Some (B) any 

 (C) More (D) No correction required 

84. He found the gold coin as he cleans the floor. 

 (A) as he had cleaned (B) while he cleans 

 (C) while cleaning (D) No correction required 

85. The intruder stood quietly for few moments 

 (A) for few time (B) for the few moments 

 (C) for a few moments (D) No correction required 

Direction : In Question nos. 86-88, four alternative are given for 

the Idiom/Phrase underlined in the sentence. Choose the 

alternative which best expresses the meaning of the Idiom/Phrase 

and mark it in the Answer Sheet. 

86.  At the drop of a hat 

 (A) without any hesitation  

 (B) To take for granted 

 (C) A good idea or plan   

 (D) To present a counter argument 

87.  Hit the hay 

 (A) Say something exactly right  

 (B) A good idea or plan 

 (C) Keep something away                     

 (D) To go to bed 

88.  Not a spark of decency 

 (A) Someone who lacks intelligence  

 (B) No manners 

 (C) Keep something away            

 (D) To go to bed 

Directions: In Question nos. 89-91, in the following question, out 

of the four alternatives, choose the one which can be substituted 

for the given sentence. 

89.  A person who insists on something 

 (A) Disciplinarian  (B) Stickler  

 (C) Instantaneous  (D) Boaster 

90.  Leave or remove from a place considered dangerous 

 (A) Evade  (B) Avoid  

 (C) Evacuate  (D) Exterminate 

91.  Having superior or intellectual interests and tastes 

 (A) Elite  (B) Fastidious  

 (C) Sophisticated  (D) Highbrow 

Direction:In Question nos. 92 in the following questions, out of 

the four alternatives, choose the one which best expresses the 

meaning of the given word as your answer. 

92.  SCINTILLATING 

 (A) Smoldering  (B) Glittering   

 (C) Touching  (D) Warming 

Direction: In Question nos. 93-94 in the following questions, 

choose the word opposite in meaning to the given word opposite 

in meaning to the given word. 

93.  GULLIBLE 

 (A) Incredulous  (B) Fickle  

 (C) Easy  (D) Stylish 

94.  VANITY 

 (A) Pride  (B) Conceit  

 (C) Humility  (D) Ostentatious 

Directions : In question four words are given in each question, out 

of which only one word is spelt correct. Find the wordspelt correct 

and mark your answer in the Answer Sheet. 

95. (A) Sepulchral  (B) Sepilchrle  

 (C) Sepalchrul  (D) Sepalchrl 

Direction : In Question nos. 96 to 100, you have a brief passages 

with 5 questions. Read the passage carefully and choose the best 

answer to each question out of the four alternatives and mark it by 

blackening the Appr opriate oval [ ]  in the Answer Sheet.  

PASSAGE 

Male lions are rather reticent about expanding their energy 

in hunting more than  three quarters of kills are made by 
lionesses are in front, tensely scanning ahead, the cubs lag 

playfully behind and the males bring up the rear, walking 
slowly, their massive heads nodding with each step as if 

they were bored with the whole matter. But slothfulness 

may have survival value. With lionesses busy hunting, the 
males function as guard for the cubs, protecting them 

particularly from hyenas. 

96. According to the passage male lionsgenerally do not go 

for hunting because  

 (A) they don‟t like it  

 (B) they want lioness to get training 

 (C) they wish to save their vigor for other things 

 (D) they are very lazy 

97. The Antonyms of the word ‘slothfulness” used in the 
passage. 

 (A) Energetic  (B) Banal  

 (C) Trite  (D) Hackneyed 

98. Male lions protect their cubs 

 (A) from the members of their own species 

 (B) from hyenas only 

 (C) from hyenas as much as from other enemies 

 (D) more from hyenas than from other animals 

99. Lioness go for hunting 

 (A) all alone 

 (B) with their male partners only 

 (C) with their cubs and male partners 

 (D) with their cubs only 

100. When the lionesses go in search for their prey, they 
are very 

 (A) serious  (B) cautious  

 (C) playful  (D) sluggish 
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